100 GR Synchro

Fitting for 2 synchronously opening glass doors up to 100 kg (220 Ibs.),
with surface mounted running track. Wall mounting.

Product highlights

“Tﬁ Flexibility Standard applications can be extended with
the Synchro option

{pr Comfort Two simultaneously sliding doors make large,

fully accessible openings possible

Technical specifications

[ Max. 100 kg (220 Ibs.)
IH Max. 2750 mm (9' 9/32")
£2  Max. 1200 mm (3' 11 1/4")
ﬁﬂ 30 mm (1 3/16")

(5.9-10 mm (7/32" to 13/32"))

Installation examples

51.5
1u
%
7 39 19
o 11 i
32 32 i
05
Loy
=—b5
s LR
N el F@ ;\N 2}
I 57 gd o=
i -
o e
+1
B i dn
T
Q & /
+% - M5 x25
¥ 12[12)6]12 ?{_\g 111 103
1372\. %.\ %u \]3752).. i g ']é 4%\. 4\%6
3y 2 29 _[10
— ]
! = 4 a
HVE w3
|3 !
=t Clex
= =38
o
z| B
£
e 8
26 5 £ - =
=~ =5 Glas/Glass/Verre / 8mm Holz/Wood/Bois = TB - 41/ = TB - 13"
Q| 13 g- 10mm Holz/Wood/Bois = T8 - 39/ = TB - 112"
S
10 1Mo | 1 % L=TB-57/L=TB-2}"
13n 130 130 o
32 32 32
=G
©re M5x25
N |
04x20 ) - [[@smans]|
ol —— ]
16 .18 85 29
Bu 5 EXiD 'ED)
8 16 32 32

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 497



100 GR Synchro

Set for 1 aluminum frame door up to 100 kg (220 Ibs.)

(order 2x)

No.

Hawa Divido 100 GR, for 1 door

042.3025.071

~
o
Te)
S No.
@2
%i
Set consisting of: o
Running gear, ba_II bearing, 5 | 057.3114.071
rollers plastic white
Sto'pper, WIﬂ"I retention 5 | 057.3073.072
spring, plastic, gray
Suspension bolt, M8x32
& mm (5/16"x1 1/4"), steel, 2 | 057.0123.104
zinc-plated
Hexagon locking nut, M8,
>
& steel, zinc-plated 2 | 768.9005.101
Running gear support, 2 | 042.3006.071
aluminum
Hexalobular pan head
thread forming screw,
&E«g@ M5x25 mm (3/16"x31/32"), 8 | 600.0000.174
steel, zinc-plated
Bpttom guide, steel, 1| 042.3016.171
zinc-plated
Countersunk head screw,
&E&D 4x20 mm (5/32"x25/32"), 2 | 766.5042.120

steel, zinc-plated

498

Synchro set

No.

Hawa Divido 100 GR Synchro, for 2 doors

042.3027.071

~
Q
N~
S No.
@
mm q
Set consisting of: (inch) (=}
Deviating roller, ball bearing | 2 | 055.0101.001
Cable safety, steel,
f‘ zinc-plated 2 | 056.0124.101
A
a,[)
S_et calblte golder, steel, 1| 042.3015.171
& zinc-plate
@ Bush, steel, zinc-plated 2 | 057.0147.101
Kevlar cable,
@ D= 2.5 mm 0000 | 1 | 752.0059.104
(3/32") ( )
Flat washer, M5, 5.3/15/2 mm
,, (8/16"/19/32"/3/32"), steel, 2 1 600.0000.681
zinc-plated
Rounded head screw,
%@g@ 5x25 mm (3/16"x31/32"), 2 | 762.9455.000
steel, zinc-plated
Head cap screw,
‘&@{g@ M5x8 mm (3/16"x5/16"), 4 | 600.0000.171
steel, zinc-plated
Running tracks
mm
(inch) No.
2,500 057.3048.250
(8'27/16")
?’500 .| 057.3048.350
Combi running track, | (11'525/32")
aluminum, pre-drilled
P 6,000 | 157 3048.600
(19' 8 7/32")
cutto | 957.3048.990
size
2,000
Spacer track, forwall | 563/ 057.3054.200
mounting, plastic,
gray cutto | 057.3054.990
size
Dlsppsable cover to 2,000 057.3098.001
running track Hawa (6'63/4")
Divido 100 / Hawa
Porta 45/60/100, cut to 057.3098.990
plastic, black size

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




100 GR Synchro

Panels Glass retaining profiles
mm mm
(inch) No. (inch) No.
2,500 042.3004.250 Glags retaining
®'27/16") profile, glass
thickness 6 mm 20,000
?’500 .. | 042.3004.350 (1/4"), with trimmed (65' 7 13/32") 042.3021.002
Clip-on panel, (s 25/327) edge, plastic,
aluminum, anodized
099 | 042.3004.600 transparent
( ) Glass retaining
cut to profile, glass
size 042.3004.990 thickness 20,000 042.3079.002
5.9-6.4 mm (1/4"), (65' 7 13/32") : :
Brush seal, gray, 10,000 with grounded edge,
in rolls (32'9 11/16) 053.3040.100 plastic, transparent
Leading edge frame profiles
Clip-on components
mm
No. (inch) No.
/ Clip component for wooden 2,500 | 145 3005.250
and aluminum panel (8'27/16")
> 4 " 057.3117.001
/ e;’erY 5.00 mm (L .7”11d/16 ) Front edge profile for 3,000 042.3005.300
aluminlum, pre-driie 057.3084./042.3001./ | @ 101/8") T
042.3083., aluminum,
Frame profiles Z anodized (13;0332“) 042.3005.600
mm cut to
(i) No. size 042.3005.990
2,500 1 545 3000.250 . .
8'27/16") Sealing profile, 10,000 042.3010.002
Frame profile 6.000 plastic, gray, in rolls (32' 9 11/16") ’ ’
horizontal, ’ 042.3000.600
) . (19' 8 7/32")
aluminum, anodized
o101 042.3000.990 | Screw set for frame bar
No.
(8?;5722,) 042.3001.250
) ) Screw set for frame rung
Frame profile vertical, | - 6,000 |, 5301600 &@g@ 042.3007., aluminum frame 099.0031.999
aluminum, anodized (19' 8 7/32") system, 4-pieces set
outto | 042.3001.990
Panel end component set, 51 mm (2"), aluminum,
2500 1 445 3083.050 | Wall mounting
(8'27/16")
Frame profile, with 6.000 No.
handle, vertical, o 1042.3083.600
aluminum. anodized (19'87/32") Panel end component set for 057.3048.,
’ cut to 51x60 mm (2"x2 3/8"), aluminum, anodized, 042.3028.075
size 042.3083.990 for wall mounting
2,500
Frame profile for 8 2 716" 042.3007.250 K2
o
front subdivision, P
aluminum, anodized cutto | 5.5 3007.990 S No.
size :
Set consisting of: S
Panel end component,
51 mm (2"), aluminum, 1 | 042.3028.905
anodized
Bracker connector, steel, > | 057.3051.101
zinc-plated
- Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4| 011.0101471
zinc-plated

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

499



100 GR Synchro

Accessories Further installation examples
53
No. 2
>4
S5u
& Drilling and routing jig Hawa &
t@ Divido GR/GRM 042.3045.001 e 22
T 4‘,
Centering help for 8 mm (5/16" i e
@ entering help for 8 mm (5/16") | 45 3047 002 S . .
filling material, 15-piece set [T 8
2| 235
] ]
Track cleaner, plastic, blue 057.3099.071 ! 7
4
[
. w
% Glue Ceresit 3B Silicone, 310 ml | 098.0027.000 Tl z.
g [T ﬁ‘,:‘”
32 16 o T
s i
H HEE

H-63/TH

TH=
Glas/Glass/Verre / 8mm Holz/\Wood/Bois
10mm Holz/Wood/Bois

@(59-10) 2%
713 ®\ 137
Dz -%") 10 Mo | 10
13u 1134 13u
32 132 32
=G
O|'ar
04x20

~ [y

ool | =+
2o

500 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



100 GR Synchro

Calculations of clip-on panels Top-down view of doors
Schiene/Track/Rail Schiene/Track/Rail 9.5 2
3u .3n
S, 16 8 29 29 Ezg 15

i 5
8 8 S 5 S 19
13 ‘ %" 13" ‘ 32

B (] C Qo) (==
=je L — I Ee— —a]s
ol - —) —
PAEV B o Art. No. 042.3005 Art. No. 042.3010.002
T
| | 2
3
- - ) R - 29 29 _f2 29 15
Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache & clipser “:’] 10 1o 19,
= Schiene/Track/Rail + 19 (3") = Schiene/Track/Rail + 8 (%) | 15 2 8 8 %2
Tu (S— [ )
i ﬁ: :ﬁ: gl
—)
Art. No. 042.3005 Art. No. 042.3010.002
Cross sections of profiles with panels
26 " )
o 5.9 - 6.4 mm Filllmaterial / Panel / Panneau de porte:
%2 Fiir 6 mm Glas mit besdumter Kante / For Glass 6 mm,

i with trimmed edge / Pour verre 6 mm, avec aréte rongée
B Art. No. 042.3021.002

o= Fiir 5.9 - 6.4 mm Glas mit geschiiffener Kante / For Glass 5.9 - 6.4 mm,
A ol with grounded edge / Pour verre 5.9 - 6.4 mm, avec aréte poncée
| Art. No. 042.3079.002
o
| —
I™——— 10 mm Fiilmaterial /

J 30 Panel / Panneau de porte
32
U 8 mm Filllmaterial mit Zentrierhilfe /

Panel with centering help / Panneau de porte
avec aide de centrage

o Art. No. 042.3047.002

6

Calculations

Schienenlange/track length/Longueur du rail S=(2xR0) + 80
S=(2xR0) + 33"
30 Rahmendffnung/frame opening/Ouverture du cadre = RO 30

ale|

|
|

TB=(R0+58)/2 2, B

3

m-mo+2%)/2] ¥

18 In der Mitte 1 Stopper mit Arretierungskraft ( rechte Tiire )
63 In the middle 1 stopper with retention spring ( right door )
2%" Dans le centre 1 butée avec force ( porte & droite )

Accessories Planning/execution
— Hawa 4-point guidance from page 521 Further information about the product can be found
— Hawa Divido overview from page 535 on www.hawa.com.

- Hawa Divido GR door weight calculations from page 537
— Glass recommendations from page 536

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 501



